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Precalculus











1.  Use Gaussian Elimination to solve the system.


2x + 3y -z = 4


4x -2y +3z = 2


-6x +7y -7z = 5

2.  Use Gaussian Elimination to solve the system 


x + 2y - 3z = -7


2x -3y + z = 14


4x + y - 2z = 3

3.  Write the system of equations for the augmented matrix. Do not solve.
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4.  Tell which of the following describes the matrix.  Explain your answer


a.) in reduced row echelon form


b.) in row echelon form but not reduced


c.) not in row echelon form
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5.  Find a row echelon form for the matrix by hand.
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6.  Write the Augmented Matrix, Reduced Row Echelon Form and Solve the system (use your calculator.)
3x -2y + z = 19

x + 3y - 4z = -14

2x - y + 3z = 19

7.) Write the system of equations as a matrix equation AX = B, with A as the coefficient matrix. Then solve using an inverse matrix (use your calculator) Show your matrices.
2x -3y + 4z = -17

x +2y -3z = 19

3x - y 
 = 4
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